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QUESTION 1

You are implementing Oracle Cloud Pricing for a Fortune 500 hi-tech components distributor who operates on wafer thin
margins. 

Identify a pricing rule associated with a pricing strategy that can be used for evaluating the margin. 

A. Currency conversion lists 

B. Cost Lists 

C. Discount Lists 

D. Price Lists 

E. Shipping charge lists 

Correct Answer: B 

 

 

QUESTION 2

You are revising a sales order by manually scheduling the following fulfillment line and splitting it. Which three order
attributes can be updated for the split line? (Choose three.) 

A. Fulfillment Line shipment method 

B. Fulfillment Line warehouse 

C. Fulfillment Line scheduled ship date 

D. Fulfillment Line unit selling price 

E. Fulfillment Line quantity 

Correct Answer: ABE 

 

QUESTION 3

Your company wants to notify the external system when there is a high possibility that an order is going to be delayed. 

Which four steps are required to invoke the external system connector to notify that an order is going to be delayed?
(Choose four.) 
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A. Set up the Jeopardy threshold for the orchestration process task. 

B. Set up the lead time for the orchestration steps in the orchestration process definition. 

C. Register the web service connector. 

D. Create a routing rule for the orchestration process task. 

E. Enable a business event trigger point for Jeopardy and associate the connector. 

F. Set up the Use Defined Lead time in the Available To Promise Rule. 

Correct Answer: ABDE 

 

 

QUESTION 4

The order manager in your company likes to monitor order delivery commitments in real time for customers. 

Identify the Order Management Oracle Transactional Business Intelligence (OTBI) dashboard that can be used to get all
possible root causes for orders that are not fulfilled on time. 

A. Fulfillment line in Jeopardy 

B. Orders on Backorder 

C. Orders on Past Due 

D. Orders in Jeopardy 

E. Orders on Hold 

Correct Answer: C 

Orders in jeopardy ?Details ?The Fulfillment Lines in Jeopardy Analysis shows the number of fulfillment lines that are in
jeopardy, using a bar for each jeopardy priority that you have defined. For example, a range can indicate high, medium,
or low jeopardy priorities. You can click a range bar to drill down to the Manage Fulfillment Lines page, which displays a
list of fulfillment lines restricted to the exception type that corresponds to that range, as indicated by an icon in the
Exception Type column. Orders on Past Due ?Details and allows filtering based upon : Year Inventory Organization
Name Item Name Business Unit Name Bill-to Customer Name Ship-to Customer Name So Past due seems to give root
cause details while Jeopardy gives ranges 

 

QUESTION 5

Your company is using Order Management Cloud to capture orders, and has integrated with a legacy inventory
application for order fulfillment. A fulfillment request needs to be aggregated and sent to an external inventory
application. 

What step would you perform to aggregate the request? 

A. Create a new custom task by using the Shipment Task Layer. 
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B. Create a new custom task by using the Fulfillment Task Layer. 

C. Create a new custom task by using the Supply Task Layer. 

D. Configure a fulfillment task routing rule with aggregation criteria based on time limit or total number of lines. 

Correct Answer: D 

https://docs.oracle.com/cd/E56614_01/scmop_gs/FAOFO/F1171442AN11B74.htm 
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